Puissances de Dix (F)

Trouvez chaque produit ou quotient.

4,56 +-1000 = 1,2 X100 =
9,151 +10= 43+10=
3,1824 x 100 = 4,8 X 100 =
1,6232 + 100 = 6,5968 X 1 000 =
9,52 +-100 = 6,634+~ 1000 =
6,751 + 10 = 4,239 X 10 =
3,35x 1000 = 4,6 x 1000 =
9,098 +~1000 = 6,576 X 100 =
8,9 X100 = 3,02 x 10 =
9,0724 - 1000 = 8,406 - 100 =
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Puissances de Dix (F) Solutions

Trouvez chaque produit ou quotient.

4,56 +-1000=0,00456 1,2x100=120

9,151 +10=0,9151 43+10=0,43

3,1824 x 100 = 318,24 4,8 x 100 =480

1,6232 +-100=0,016232 6,5968 x 1 000 = 6 596,8
9,52 + 100 = 10,0952 6,634 +-1000=0,006634
6,751 +~10=10,6751 4,239 x 10 =42,39
3,35x1000=3350 4,6 x 1 000=4600

9,098 -1 000 =0,009098 6,576 X 100 = 657,6

8,9 x 100 =890 3,02 x 10 =30,2

9,0724 -1 000 =0,0090724 8,406 +~ 100 = 0,08406

MathsLibres.Com




